Multiplicar por potencias de diez (nimero faltante)

Nombre:

1,902 %

4,117 x

2,745 %

7,742 %

8, 945 x

5,651 x

4,783 x

2,093 x

9,553 x

10, 182 x

= 4117

=274.5

=774.2

= 89.45

= 5651

=478.3

=20.93

=9553

= 10182

Fecha: Puntuacion:

1,177 x =117.7
3,334 x =333.4
2,325 x =232.5
4,953 x = 4953

8, 456 x = 8456
5,8 x = 58

10, 724 x =107.24
10, 841 x = 10841
3,704 x = 3704
9,213 x = 9213
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Multiplicar por potencias de diez (nimero faltante)

Nombre:

1,902 x 100 = 190.2

4,117 x 1000 = 4117

2,745 x 100 = 274.5

7,742 x 100 = 774.2

8,945 x 10 = 89.45

5,651 x 1000 = 5651

4,783 x 100 = 478.3

2,093 x 10 =20.93

9,553 x 100 =955.3

10, 182 x 1000 = 10182

Fecha: Puntuacion:

1,177 x 100 = 117.7

3,334 x 100 = 333.4

2,325 %100 = 232.5

4,953 x 100 = 495.3

8,456 x 1000 = 8456

5,8x 10 =358

10,724 x 10 = 107.24

10, 841 x 1000 = 10841

3,704 x 1000 = 3704

9,213 x 1000 = 9213
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